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Answe1 ALL questlone
PART A — (10 X 2 20 malks)
Wmte the chffexent methods of voltage contml of a smgle phase 1nve1te1‘? S

Defme harmomc factm

. What dre the methods of voltage control of a thlee phase 1nve1ter w1th L
",nnpmved pelformance‘? : SRR : o

- Defme trxangu131 factor e R SENEA : R ;7_ -

".jWhy dlodes should be connected in ant1 palallel w1th the thyrlstor m an_"-‘_~ |
mveltel c1rcu1ts‘? ' . : . S _ L

: -Compale CSI and VSI

'-State _the sxgnlflcance of static VAR generator.

Which constitute the energy tank for the inverter and why?
Define class E resonant inverter,

What is overlapping mode? -

PART B — (5 x 13 = 65 marks)
(a) Explain various harmonics elimination methods in single phase inverter.

Or

(b) Explain the carrier based PWM techmque used to control the output
voltage in a single phase mverteas

Maximum : 100 marks =
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(a)

®.
~(a)

Discuss the principle of working of a three phase voltage source inverter.
Draw a phase and line voltage waveform on the assumptions that each
thyr 1st01 conducts fox 180 deglee

o

Derive the :nlult'i.'_'p_i_._l_l_.ee voltage control of three phase inverter.

.plmmple of CSI G

@

o

::Explam the:smgle phase pa1alle1 1nve1ter w1th a neat dlaglam and 1ts
wavefmm " . _ . SR _ _ : _

:".Dlaw the block dlagram for onhne and off hne UPS and explam the :.:
- 'operatlon ofUPS - o e R S

PART C - (1 X 15 = 15 malks)

'--A smgle phase full budge 1nve1te1 is. fed from a dc source such that o

- fundamental component of output. Voltage is 230V, Fmd the rms value'-_' SRR

"7 of thyristor .and Diode cuuent f01 the followmg loads (1) R= =4Q, PR,
-'.-.(11)R 39 Xl—IOQ X—GQ ' -

to ..:: Or

A3 phaee ‘inveflim delivers power to a resistive load from a
. 450 V DC source. For a star connected load of 100 ochm/phase. Determine . -

for both 180 deg;ee and 120 degree mode of operation.
(i) .RMS value of load curfent

@) RMS value of thyristor current

(iii) Load power.

2 ) o 11187

A siﬁgle. i)has'e' 'ASCI feed a Lesistive load. Deseribe its working with the =
- appropriate. ClI‘CUlt and wavef01 ms, Find also the circuit tu1 ns off tnne f01 o
'7 the thynstm ' o .

Wlth neat sketch of voltage and cunent wavefmm explam the wmkmg_" Sl

i Draw. and. explaln the opelatlon of smgle phase Z soulce 1nve1te1 w1th :j--_ e
-'relevant wavefmms T : : R



